我有兩條QUESTIONS，model ans放左在page 4

Q1:呢題有2頁 ，Page 1是question， Page 2是my answer(偷懶左0的item名) total有四個唔明地方，已用紅筆圈左[image: image1.jpg]Section B
Answer any TWO questions in this section. Each question carries 20 marks.

3. PC Ltd produces a single product which undergoes two processes. After the two processes, the
ﬁnishedpmducrswiﬂbeuans{cnedlozhesalsdcparmm The following details relate to the

month of December 2003:
Process One Process Two
Opening work-in-progress 1,200 units 2,000 units
- Materials $5,000 $6,000
- Wages and overhead $3,300 | ;
Input in period 120,000 units 109,000 units Ao
Materials added $490,800 - e $375,000 = _ L ok & B97
Wages and overhead incurred $387,504 $332,000
Units finished and transferred out 109,000 units 99,550 units
Closing work-in-progress 4,800 units 5,400 units f
5 P
The degree of completion of the partly completed units was: (
Proce: e cess Two howel [yss: "
Opening work-in-progress
- Material 100% 100% F. 995y
- Wages and overhead 80% 75% /
Closing work-in-progress et Gony
- Maierial 100% 100% (a2
- Wages and overhead 60% 40%
Rl OO L v e i
Units spoiled have the following scrap values: o
After Process One $2 per unit BF\@{#{-’#
After Process Two $4 per unit
The scrap value of the normal loss iz used to set off against the W in the process
accounts. 4
You are required to:
(a)  prepare the process accounts for Process One and Two for the month of December 2003, by
using the first-in first-out method of valuation; and (15 marks)

(b)  explain the accounting treatment for normal and abnormal losses in process costing.
(5 marks)

In calculating the unit cost of the product, Jive decimal points are required.
All workings must be shown. T
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Q 2:呢度我只計到a) &b)(i)

miss 可唔可以幫我找找bii)&iii???

[image: image4.jpg]4. Kid Ltd. is considering investing in its own transport fleet. The present position is that carriage is
contracted to an outside organization. The life of the transport fleet would be five years, after
which time the vehicles would have to be disposed of.

The cost of using the outside organization for its carriage needs i5/$250,000 for this year. It is
projectedmmﬂﬂscoﬂwﬂlﬁse%mumwatheﬁfeoﬂh:pmjmTheiniﬁaloosxofthe
transport fleet would be & it is estimated that the following costs would be incurred
ovcrthenm—
—— tdp
Drivers’ Repairs & Other Q""Uy‘
costs Maintenance costs

(350000
Year $'000 $°000  $'000 ;
1 33 8 130 250 (1207
2 35 13 175 a5 2
3 36 15 140 3025 19)
4 38 16 136 325 nd SoopV.
L 40 18 142 366.025 (132 150000
\

Other costs include depreciation. It is projected that the fleet would be sold for $150,000 at the end
of vear 5 It has beer agreed to depreciate the fleet on a straight line basis.

To raise funds for the project, Kid Ltd. is proposing to raise a long-term loan at 12% interest rate

per annum.

The company also considers investing in an alternative project by using the funds raised and has
the following projected results.

As funds are limited, investment can only be made in one project.

You are required to:

' (a) prepare atable showing the net cash savings (excluding initial outlay and scrap
value) to be made Uy the firm over the life of the transport flest project;
(ignore time value of money) (5 marks)

(b) calculate the following for the transport fleet project;
(i) payback period
(if) accounting rate of return based on average investment
(i) net present value (5 marks)

(c) state the two relative merits of each of the evaluation methods mentioned in (b)
above; and . (6 marks)

(d) explain which project you would recommend for acceptance. (4 marks)




ANSWER:

[image: image5.jpg]Process One
Materials
‘Wages and OH
$
Normal Loss 12,000
Abnormal Loss 10,710

Transfer to Process 2 833,798
Closing W/P 30,096

c Fopivalent Usi

s
4.20000

3.45000

7.65000

** 5 decimal places as per question
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Cost per Equivalent Unit
S
Transferred in 8.05213
Materials 3.41091
Wages and OH 3.29332
14.75636
3
Normal Loss 21,800
Abnormal Loss 8,854
Transferred to Sales Dept 1,465,630
Closing WIP 69,014
(a) YR g o i =3 el
$000 $000 $000 $000
Outside organization’s costs 250 275 302.5 332.75
Costs in relation to transport fleet 51 63 7 70
Savings 199 212 2315 262.75
(b) @) Payback period 3.41 years
(i)  ARR 26.3%
(iif) Net Present value ~ $175,854
(c) refer to “Notes”

(@ transport fleet project should be undertaken

. i
$000
366.025
80
286.025




